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In a school, the average pge of studentg is 6
ﬁs_,gand the average age of{12 keachers is 40
years. If the average age of thecombined group

of all the teachers and students is 7 years, then
= o —_—
find the number of students in a school.
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The average age of a class of (30 studentg and@
lteacheﬂ is reduced by{six monthgy if we/exclud
the teacher. If the initial average is 14 years, find

— the age of the class teacher. B
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The average age of f 0 men\'sincreased by two
years when one of them, who is 25 years old, is
——————
repiaced by a new man. Find the present age of a
’

new man? —
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The sum of the present ages of A and B is 5/3 of
the present ages of C, and the ratio of the ages of
A and C is 10:9. If the sum of the present ages of B

C— 5
and C together is 28 years, then find the present
‘?—4—: —_—
ages of A.
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Thrthe ratio between the age of

Karthi and Janvi will be 7:5. The age of Karthi two

’

years hence is equal to|gwo timespf age of Janyi,
@Find the present age -@
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A
The ratio of the ages of! Ram|and|Sunillis 5: 6 and

after ten years) the ratio of Sunil—;ncﬂzSharﬁis 4:
—_— —
3. If thedifference betweenthe ages of Ram and
Sunil after 20 years is 9 years, then find the
present age of Shanu?
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The respective ratio between the present ages of
the daughter, mother, father, and grandmother
is 2:5:6:11. The average age of a daughter and

mother is 28 years; what will be a grandmother's
— r-?_" _

age after 12 years? —
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The present age of a father is 100% greater than
the present age of his son. 10Zeae age
of the father was 200%4”\ than that of his

son. What will be the ratio of the ages of father
and son after 15 years?
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9 years ago, the ratio of Amit and Punit's ages
was 14:17, respectively, and the age of Punit 9
yearsaggis the same as the present g@@f Amit.
" Then Find the present ages of Amit and Punit.
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The ratio of the ages of Oviya to Kavin is 5:6.
Kavin's ageﬁter 8 years |§ioo% more than
OV|ya s two years ago. Find the average present

— age of Oviya and Kavin?
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The ratio of the present age of A to that of B is
3:2, and the ratio of the present age of A to that
of C is 3:5. If the average present age of A, B, and
C is 20 years, then find the age of B after 8 years.
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The present ages of the mother and son are 28
years and 7 years, respectively. If the ratio of
their ages will be 11:4 after x years, then find the
value of x.
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o B
If the average of the ages onc;@ is
an and

15 years, the average of the ages of M
—_———

Ragfesh is 12 years,.and the average of the ages
:gfﬁajesh and Ray@sh is 13 years. Find the
difference between the ages of Rakesh and

rRajesh. _ : —
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Three years ago) the ratio of the age of A to B was
3:4) The present age of C is§33 33% more!than
that of A, and the sum of the present ages of B

and C together is 71 years. Find the difference

between the present age of A and B.
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The present age of Mathi is 120% of the age of

Sunil at that time, and the ratio of the present

age of Sunil to Bala is 5: 8. If the age of Mathi five _

/

years hence is equal to the age of Bala five years

ago, then find the present age of Sunil. S
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2% .8
LSixﬁyears agj, the age o@vas twice the age o

and the ratio of theirpresent agejs 5:3. Then find
the difference between their ages.
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The ratio of the ages of Shon and Sania before six

years isand the ratio of the ages of Shon and

4. — . . .
Sania after|12 years/will be 7:8. Find the ratio of

the present age of Shon to Sania?
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The ratio of the present ages of Priya and Queen
is 6:5, and the ratio of the present ages of
Reshma and Shabhana is 5:6. If Shabhana is 8

EE——— . e
years older than Queen and Reshma is 3 years

older than Priya, then find the sum of the ages of

Priya, Queen, Reshma, and Shabhana.

1IBPS




The present age of Arun_is 10% more than the
present age of Ashwin. Arun is 4 years older than
Arjun. Anish will be 3 years older than Arjun. Find

the present age of Anish, if the average present

age of all four people together is 31 years.
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The ratio of the ages of Anil and Sunil 6 years ago
was 8:5, respectively. After 2 years, the age of
— —_—
Sunil will be 25% less than that of Anil. What is
the present age of Anil2
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